
－ 1 － 

數學 I  CH3 指數 3 

__________年__________班  座號__________姓名__________ 

總       分 

 

1.試化簡 (以根式表示) 下列各式： 

(1)
1

216 _______          (2)
1

3125 _______          (3)
1

2
9

( )
4

_______   

(4)
1

23 ______            (5)
1

32 ______             (6)
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28  ______ 

 

(7)
3

22  ______            (8)
3
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23 ______ 
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3
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
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2

53


_______          (12)
1

3( 8) _______   

 

 

 

2. 試化簡下列各值： 

(1) 125  _______         (2) 3 16 _______          (3)
53 2  _______   

 

 

3. 試利用指數律化簡下列各式：( (7)~(9)可先將根式化為有理指數) 

(1)
2

364 ________         (2)
3
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5






 _______   

 

 

(7) 4 35 5 ________      (8) 4 81 9 ________  (9) 

9
3 33 7 322 2 2 2     ____________ 

 

 

 

 

 



－ 2 － 

數學 I  CH3 指數 3 

__________年__________班  座號__________姓名__________ 

總       分 

 

1.試化簡 (以根式表示) 下列各式： 

(1)
1

216 _______          (2)
1

3125 _______          (3)
1

2
9

( )
4

_______   

(4)
1

23 ______            (5)
1

32 ______             (6)
1
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22  ______            (8)
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52 ______             (9)
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23 ______ 
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3
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

______           (11)
2

53


_______          (12)
1

3( 8) _______   

 

 

 

2. 試化簡下列各值： 

(1) 125  _______         (2) 3 16 _______          (3)
53 2  _______   

 

 

3. 試利用指數律化簡下列各式：( (7)~(9)可先將根式化為有理指數) 

(1)
2

364 ________         (2)
3

532 ________        (3) 
1

2
9

( )
4



 ________                     

 

(4)
1
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
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 _______  (6)
1.2 1.8
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5






 _______   

 

 

(7) 4 35 5 ________      (8) 4 81 9 ________  (9) 

9
3 33 7 322 2 2 2     ____________ 

 

 


